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BSEH MARKING SCHEME 

CLASS- X   SCIENCE (March-2024)  Code: C 

 अंक-योजना मɅ Ǒदए गए उƣर-ǒबÛद ुअǓंतम नहȣ ंहɇ। ये सुझावा×मक एवं 

सांकेǓतक हɇ। यǑद परȣ¢ाथȸ ने इनसे ͧभÛन, ͩकÛतु उपयुÈत उƣर Ǒदए हɇ, 

तो उसे उपयुÈत अकं Ǒदए जाए।ँ 

 The answer points given in the marking scheme are not 

final. These are suggestive and indicative. If the examinee 

has given different, but appropriate answers, then he should 

be given appropriate marks. 

Q. 

No. 

  Answers Marks 

1. d) कागज़ मɅ भीतर कȧ ओर जाते हुए 

into the page 

 

1 

2. c) अǓतभारण 

overloading 

 

1 

3. 1.33 1 

4. अवतल  

Concave  

 

1 

5. c) A स×य है परंतु R अस×य है। 

A is true but R is false 

 

1 

6. Ǔनकट-ǒबदं ु(Near Point) = 25 cm 

(1 अकं) 

दरू-ǒबदं ु(far point) = अनंत (infinity) 

(1 अकं) 

2 
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7. यह ͪवɮयाथȸ Ǔनकट Ǻिçट दोष से पीͫड़त हɇ।  
The student is suffering from myopia (near 
sightedness) 

(1 अकं) 

इसे आवæयक ¢मता के अवतल लɅस के उपयोग से 

संशोͬधत ͩकया जा सकता है। 
It can be corrected by using concave lens of suitable 
power. 

(1 अकं) 

अथवा 

or 

लाल वण[ के Ĥकाश कȧ तरंगदैËय[ नीले Ĥकाश कȧ अपे¢ा लगभग 

1.8 गुनी है। 

The red light has a wavelength about 1.8 times 

greater than blue light.  

(½ अकं) 

अतः, जब सयू[ का Ĥकाश वायुमडंल से गज़ुरता है, वायु के सêूम 

कण लाल रंग कȧ अपे¢ा नीले रंग (छोटȣ तरंगदैËय[) को अͬधक 

Ĥबलता से Ĥकȧण[ करते हɇ।  

Thus, when sunlight passes through the atmosphere, 

the fine particles in air scatter the blue colour (shorter 

wavelengths) more strongly than red. 

(1 अकं) 

Ĥकȧͨण[त हुआ नीला Ĥकाश हमारे नेğɉ मɅ Ĥवशे करता है। इसͧलए 

èवÍछ आकाश का रंग नीला होता है।  

 

 

 

 

 

 

2 
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The scattered blue light enters our eyes. So colour 

of clear sky is blue.  

 

(½ अकं) 

8. ǒबबं-साइज़ (Object-size), h = + 4.0 cm;  

ǒबबं-दरूȣ (Object-distance), u = – 25.0 cm;  

फोकस दरूȣ (Focal length), f = –15.0 cm;   

  
(½ अकं) 

 

 
(उतर का ½ अंक, ईकाई का ½ अंक) 

 
(½ अकं) 

ĤǓतǒबबं कȧ ऊँचाई (height of image) h' = – 6.0 cm 

(उतर का ½ अंक, ईकाई का ½ अंक) 

 

 

 

 

3 

9. a) यǑद इन चारɉ ĤǓतरोधɉ को ĮेणीĐम मɅ रखा जाए तो 

अͬधकतम ĤǓतरोध ĤाÜत होगा- 

If these four resistors are placed in a series, the 

maximum resistance will be obtained:  
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(½ अकं) 

Rs = 4Ω +8Ω + 12Ω + 24Ω = 48Ω. 

(उतर का ½ अंक, ईकाई का ½ अंक) 

(b) Ûयूनतम ĤǓतरोध पान ेके ͧलए उपयु[Èत चारɉ ĤǓतरोधɉ को 

पाæव[Đम मɅ रखा जाएगा। 

The above four resistors will be placed in parallel 

order to get minimum resistance. 

(½ अकं) 

∴
1

𝑅௉
=

1

4𝛺
+

1

8𝛺
+

1

12𝛺
+

1

24𝛺
 

 
⇒

1

𝑅௉
=

6 + 3 + 2 + 1

24
𝛺 

 
⇒

1

𝑅௉
=

12

24
𝛺 =

1

2
𝛺 

∴ 𝑅௉ = 2𝛺 

(उतर का ½ अंक, ईकाई का ½ अंक) 

 

 

 

 

3 

10. R1 = 5 Ω, R2 = 10 Ω, तथा R3 = 30 Ω  

बैटरȣ के ͧसरɉ पर ͪवभवांतर,  

Potential difference across the battery  

V = 12 V 

Ĥ×येक åयिç टगत ĤǓतरोधक के ͧसरɉ पर भी ͪवभवातंर इतना हȣ 

है, अतः ĤǓतरोधकɉ स ेĤवाǑहत ͪवɮयुत धारा का पǐरकलन करने 

के ͧलए हम ओम के Ǔनयम का उपयोग करते हɇ। 

 

 

 

 

 

 

 

 

5 
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This is also the potential difference across each of 

the individual resistor; therefore, to calculate the 

current in the resistors, we use Ohm’s law. 

(a) 

R1 स ेĤवाǑहत ͪवɮयुत धारा (Current from R1) I1 = V/R1  

I1 = 12V /5Ω = 2.4 A  

(उतर का ½ अंक, ईकाई का ½ अंक) 

R2 स ेĤवाǑहत ͪवɮयुत धारा (Current from R2) I2 = V/R2  

I2 = 12V /10Ω = 1.2 A  

(उतर का ½ अंक, ईकाई का ½ अंक) 

R3 से ĤवाǑहत ͪवɮयुत धारा (Current from R3) I3 = V/R3  

I3 = 12V /30Ω = 0.4 A  

(उतर का ½ अंक, ईकाई का ½ अंक) 

(b)  

पǐरपथ से ĤवाǑहत कुल धारा (The total current in the 

circuit): 

I = I1 + I2 + I3 = (2.4 + 1.2 + 0.4) A = 4 A  

(उतर का ½ अंक, ईकाई का ½ अंक) 

(c)  

कुल ĤǓतरोध (total resistance) 

∴
1

𝑅௉
=

1

5𝛺
+

1

10𝛺
+

1

30𝛺
 

 
⇒

1

𝑅௉
=

6 + 3 + 1

30
𝛺 

 
⇒

1

𝑅௉
=

10

30
𝛺 =

1

3
𝛺 
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∴ 𝑅௉ = 3𝛺 

(उतर का ½ अंक, ईकाई का ½ अंक) 

अथवा 

Or  

(a)    

टंगèटन के उÍच गलनांक तथा  उÍच ĤǓतरोधकता के कारण 

हȣ ͪवɮयुत लैàपɉ के Ǔनमा[ण मɅ एकमाğ इसका उपयोग ͩकया 

जाता है। 

due to the high melting point and high resistivity of 

tungsten, it is the only use in the manufacture of 

electric lamps. 

(½ अकं + ½ अकं) 

(b) 

चँूͩक ͧमĮातओु ंका गलनांक तथा ĤǓतरोध शɮुध धातु कȧ अप¢ेा 

अͬधक होती है, अत: ͪवɮयुत तापन यिुÈतयɉ के चालक शुɮध 

धातुओ ंके èथान पर ͧमĮातओुं के बनाये जाते हɇ। 

Alloys have high melting point and high resistivity 

than pure metals. Therefore, conductors of the 

electric heating devices are made of an alloy rather 

than pure metal.  

(1 अकं) 

(c)  

(i) ĮेणीĐम मɅ संयोजन स े ͪवभवांतर के उपकरणɉ के बीच 

ͪवभÈत हो जान ेके से कारण कम ͪवभवातंर पर उपकरण सहȣ 

ढंग से काय[ नहȣ ंकरɅगे। 
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In series circuit the voltage is divided among 

electrical appliances connected, because of which 

electric components do not work properly. 

(ii) ĮेणीĐम मɅ संयोजन मɅ एक उपकरण के खराब हो जाने स े

ͪवɮयुत पǐरपथ टूट जाता है, अत: घरɉ मɅ एक भी उपकरण के 

खराब हो जाने स ेसारे उपकरण काय[ करना बंद कर दɅगे। 

The electrical circuit breaks down when a device  

malfunctions in combination in a series, so if a single 

appliance in the house malfunctions, all the 

appliances will stop working.  

(iii) ĮेणीĐम मɅ एक हȣ िèवच (switch) काय[ करते हɇ, अत: 

यǑद घरɉ मɅ अलग अलग ͪवɮयुत उपकरण को सुͪवधानुसार बंद 

या ऑन नहȣ ंͩकया जा सकेगा। 

Only one switch works in a series circuit, so different 

electrical appliances in homes cannot be turned off 

or on at convenience.  

(इनमɅ से कोई एक, 1 अकं) 

(d) ĤǓतरोध अनĤुèथ काट के ¢ेğफल का Þयु×Đम होता है। 

अथा[त अनुĤèथ काट का ¢ेğफल बढ़न े से ĤǓतरोध घटता है 

तथा अनुĤèथ काट का ¢ेğफल घटन ेस ेĤǓतरोध बढ़ता है।  

Resistance is inversely proportional to the area of 

cross section of wire. This means resistance 

increases with decrease in area of cross section and 

vice versa.  
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(1 अकं) 

(e) कॉपर तथा ऐलुͧ मǓनयम कȧ ĤǓतरोधकता कम होती है, 

ĤǓतरोधकता कम होने के कारण ये ͪवɮयुत के अÍछे चालक 

होते हɇ साथ हȣ ये अप¢ेाकृत सèते तथा सुलभ धातु हɇ। 

Copper and aluminium  have low resistivity,  are 

good conductors of electricity due to their low 

resistance and are relatively cheap and accessible 

metals.  

(½ अकं + ½ अकं) 

11. c) नीला-हǐरत  

blue-green 

1 

12. b) 2 1 

13. नाइĚोजन  

Nitrogen 

1 

14. नाइĚोजन डाइऑÈसाइड (Nitrogen Dioxide) (NO2),  

ऑÈसीजन (Oxygen) (O2) 

(½ अकं + ½ अकं) 

1 

15. a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

Both A and R are true, and R is the correct 

explanation of A.  

1 

16. 

 

लȣͬथयम, सोͫडयम, पोटैͧशयम 

Lithium, Sodium, Potassium 

(कोई दो, Ĥ×येक का 1 अकं) 

 

2 
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17. 

 
(1 अकं) 

 

 
(1 अकं) 

अथवा 

Or 

ऐãकȧनɉ का सामाÛय सğू (general formula for alkenes) 

= CnH2n 

(1 अकं) 

ऐãकेनɉ का सामाÛय सğू (general formula for alkanes) 

= CnH2n+2 

(1 अकं) 

 

 

 

 

 

 

2 

18. (i) 2Na + 2CH3CH2OH → 2CH3CH2O–Na+ + H2 

(1 अकं) 

(ii) CH3CH2OH 
गम[ सांġ  ுమௌைర 
ሱ⎯⎯⎯⎯⎯⎯⎯⎯⎯ሮ  CH2=CH2 + H2O 

(1 अकं) 

(iii) CH3CH2OH 
अàलȣकृत  ௄మ஼௥మைళାऊçमा 
ሱ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ሮ  CH3COOH 

(1 अकं) 

3 
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19. (i) Èलोरȣन गैस  

Chlorine gas 

(½ अकं) 

उपयोग: जल कȧ èवÍछता/ èवीͧमग ंपूल/ पीवीसी/ रोगाणनाुशक/ 

सीएफसी/ कȧटनाशक 

Use: Water treatment/ swimming pool/ PVC/ 

disinfectants/ CFCs/ insecticides 

 

(इनमɅ से कोई एक, ½ अंक) 

(ii) हाइĜोजन गैस 

Hydrogen gas  

(½ अकं) 

उपयोग: ईधंन/ माग[रȣन/ खाद के ͧलए अमोǓनया 

Use: Fuel/ Margarine/ Ammonia  for  fertilisers 

(इनमɅ से कोई एक, ½ अंक) 

(iii) सोͫडयम हाइĜॉÈसाइड 

Sodium Hydroxide 

(½ अकं) 

उपयोग: धातओु ंसे Ēीज़ हटाने के ͧलए/ साबनु तथा अपमाज[क/ 

कागज़ बनाने के ͧलए/ कृǒğम फाइबर 

Use: De-greasing metals/ Soaps and detergents/ 

Paper making/ artificial fibers 

(इनमɅ से कोई एक, ½ अंक) 

अथवा 

Or 

3 
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Metal reacts with acids to form hydrogen gas .  

Gas reacts with fatty acids to form hydrogen gas. 

(1 अकं) 

उदारहण: जब मैÊनीͧशयम धात ुहाइĜोÈलोǐरक अàल के साथ 

ĤǓतͩĐया करता है, तो हाइĜोजन गैस तथा मैÊनीͧशयम Èलोराइड 

बनता है।  

Mg(s) + 2HCl(aq)  MgCl2(s) + H2(g) 

For example, when magnesium metal reacts with 

hydrochloric acid, hydrogen gas and magnesium 

chloride are formed.  

Mg(s) + 2HCl(aq)  MgCl2(s) + H2(g) 

(1 अकं) 

हाइĜोजन गैस एक फट-फट कȧ ÚवǓन के साथ जलती है। 

अत: जब Ǒदये गये अͧभͩĐया मɅ पाइप स ेǓनकलने वालȣ गसै 

के पास जलती हुई माͬचस कȧ तीलȣ या मोमबƣी को ले जात े

हɇ, तो वह फट-फट कȧ ÚवǓन के साथ जलने लगती है। यह 

बतलाता है, ͩक Ǔनकलने वालȣ गैस हाइĜोजन है। 

Hydrogen gas burns with a pop sound. 

Therefore, when a burning matchstick or candle is 

taken near the gas coming out of the pipe in the 

given reaction, it starts burning with the pop sound. 

This shows that the gas released is hydrogen.  

(1 अकं) 
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20. सͩĐयता Įेणी के मÚय मɅ िèथत धातुएँ; जैस–े आयरन, िजकं, 

लेड, कॉपर कȧ अͧभͩĐयाशीलता मÚयम होती है। ĤकृǓत मɅ यह 

Ĥायः सãफ़ाइड या काबȾनेट के Ǿप मɅ पाई जाती हɇ।  

The metals in the middle of the activity series such 

as iron, zinc, lead, copper, are moderately reactive. 

These are usually present as sulphides or carbonates 

in nature. 

(½ अकं) 

सãफ़ाइड या काबȾनेट कȧ तुलना मɅ धात ुको उसके ऑÈसाइड 

से ĤाÜ त करना अͬधक आसान है। इसͧलए अपचयन से पहले 

धात ुके सãफ़ाइड एव काबȾनेट को धात ुऑÈसाइड मɅ पǐरवǓत[त 

करना आवæयक है।  

It is easier to obtain a metal from its oxide, as 

compared to its sulphides and carbonates. Therefore, 

prior to reduction, the metal sulphides and carbonates 

must be converted into metal oxides. 

(½ अकं) 

सãफ़ाइड अयèक को वायु कȧ उपिèथǓत मɅ अͬधक ताप पर गम[ 

करन ेपर यह ऑÈसाइड मɅ पǐरवǓत [त हो जाता है। इस ĤͩĐया 

को भज[न कहते हɇ। 

The sulphide ores are converted into oxides by 

heating strongly in the presence of excess air. This 

process is known as roasting. 

(½ अकं) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 
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काबȾनेट अयèक को सीͧमत वाय ुमɅ अͬधक ताप पर गम[ करने 

से यह ऑÈसाइड मɅ पǐरवǓत [त हो जाता है। इस ĤͩĐया को 

Ǔनèतापन कहा जाता है। 

The carbonate ores are changed into oxides by 

heating strongly in limited air. This process is known 

as calcination.  

(½ अकं) 

िजकं के अयèकɉ के भज[न एव ंǓनèतापन के समय Ǔनàनͧलͨखत 

रासायǓनक अͧभͩĐया होती है— 

The chemical reaction that takes place during 

roasting and calcination of zinc ores can be shown 

as follows –  

 

भज[न (Roasting) 

2ZnS(s) + 3O2(g)
ு௘௔௧          
ሱ⎯⎯⎯⎯⎯ሮ 2ZnO(s) + 2SO2(g) 

(½ अकं) 

Ǔनèतापन (calcination) 

ZnCO3(s) 
ு௘௔௧          
ሱ⎯⎯⎯⎯⎯ሮ ZnO(s) + CO2(g)  

(½ अकं) 

इसके बाद काब[न जसैे उपयुÈ त अपचायक का उपयोग कर धातु 

ऑÈसाइड से धातु ĤाÜ त ͩकया जाता है। 

The metal oxides are then reduced to the 

corresponding metals by using suitable reducing 

agents such as carbon. 

(½ अकं) 
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उदाहरण के ͧलए, जब िजकं ऑÈसाइड को काब[न के साथ गम[ 

ͩकया जाता है तो यह िजकं धात ुमɅ अपचǓयत हो जाता है। 

For example, when zinc oxide is heated with carbon, 

it is reduced to metallic zinc.   

ZnO(s) + C(s) 
          
ሱ⎯ሮ   Zn(s) + CO(g) 

(½ अकं) 

अ×यͬधक अͧभͩĐयाशील धातुए;ँ जैसे– सोͫडयम, कैिãसयम, 

एã युͧमǓनयम आǑद को अपचायक के Ǿप मɅ उपयोग ͩकया जा 

सकता है,  

The highly reactive metals such as sodium, calcium, 

aluminium, etc., are used as reducing agents 

because they can displace metals of lower reactivity 

from their compounds. 

(½ अकं) 

Èयɉͩक ये Ǔनàन अͧभͩĐयाशीलता वाले धातओु ं को उनके 

यौͬगकɉ से ͪवèथाͪपत कर सकते हɇ।  

because they can displace metals of lower reactivity 

from their compounds. 

(½ अकं) 

अथवा 

Or 

जल के साथ अͧभͩĐया करके धातुएँ हाइĜोजन गैस तथा धातु 

ऑÈसाइड उ×पÛन करती हɇ। जो धात ु ऑÈसाइड जल मɅ 

घुलनशील हɇ, जल मɅ घुलकर धातु हुाइĜॉÈसाइड Ĥदान करत ेहɇ, 
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Metals react with water and produce a metal oxide 

and hydrogen gas. Metal oxides that are soluble in 

water dissolve in it to further form metal hydroxide. 

(½ अकं) 

पोटैͧशयम एव ंसोͫडयम जैसी धातएँु ठंडे जल के साथ तेज़ी स े

अͧभͩĐया करती हɇ। सोͫडयम तथा पोटैͧशयम कȧ अͧभͩĐया 

तेज़ तथा ऊçमा¢ेपी होती है ͩक इसस े उ×सिज[त हाइĜोजन 

त×काल ĤÏÏवͧलत हो जाती है। 

Metals like potassium and sodium react violently with 

cold water. In case of sodium and potassium, the 

reaction is so violent and exothermic that the evolved 

hydrogen immediately catches fire.  

(½ अकं) 

2K(s) + 2H2O(l) → 2KOH (aq) + H2(g) + ऊçमीय ऊजा[ 

(½ अकं) 

जल के साथ कैिãसयम कȧ अͧभͩĐया थोड़ी धीमी होती है। यहा ँ

उ×सिज[त ऊçमा हाइĜोजन के ĤÏÏवͧलत होने के ͧलए पया[Ü त 

नहȣं होती है।  

The reaction of calcium with water is less violent. 

The heat evolved is not sufficient for the hydrogen 

to catch fire. 
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(½ अकं) 

Ca(s) + 2H2O(l) → Ca(OH)2(aq) + H2(g)  

(½ अकं) 

मÊैनीͧशयम शीतल जल के साथ अͧभͩĐया नहȣ ंकरता है, परंत ु

गम[ जल के साथ अͧभͩĐया करके वह मैÊनीͧशयम हाइĜॉÈसाइड 

एवं हाइĜोजन गैस उ×पÛन करता है।  

Magnesium does not react with cold water. It reacts 

with hot water to form magnesium hydroxide and 

hydrogen. 

(½ अकं) 

चँूͩक हाइĜोजन गैस के बुलबुले मैÊनीͧशयम धातु कȧ सतह से 

ͬचपक जाते हɇ। अतः यह भी तैरना Ĥारंभ कर देते हɇ। 

It also starts floating due to the bubbles of hydrogen 

gas sticking to its surface. 

(½ अकं) 

एã युͧमǓनयम, आयरन तथा िजकं जैसी धातुएँ न तो शीतल जल 

के साथ और न हȣ गम[ जल के साथ अͧभͩĐया करती हɇ, लेͩकन 

भाप के साथ अͧभͩĐया करके यह धात ुऑÈसाइड तथा हाइĜोजन 

Ĥदान करती हɇ।  
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Metals like aluminium, iron and zinc do not react 

either with cold or hot water. But they react with 

steam to form the metal oxide and hydrogen. 

(½ अकं) 

2Al(s) + 3H2O(g) → Al2O3(s) + 3H2(g)  

(½ अकं) 

लेड, कॉपर, ͧ सãवर तथा गोãड जैसी धातुए ँजल के साथ ǒबã कुल 

अͧभͩĐया नहȣ ंकरती हɇ। 

Metals such as lead, copper, silver and gold do not 

react with water at all. 

(½ अकं) 

21. a) X 1 

22. c) TtWW 1 

23. ɮͪवतीय 

Second   
1 

24. ऑÈसीन  

Auxin  
1 

25. b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै। 

Both A and R are true and R is not the correct 

explanation of A. 

1 

26. (i) ऑÈसीजन का पǐरवहन: 2 
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ऑÈसीजन अणु हȣमोÊलोǒबन अण ु से आसानी से बंध सकत े

हɇ। रÈत मɅ मौजूद हȣमोÊलोǒबन फेफड़ɉ मɅ हवा स ेऑÈसीजन 

लेता है। यह ऑÈसीजन को उन ऊतकɉ मɅ ले जाता है िजनमɅ 

ऑÈसीजन कȧ कमी होती है। 

Transport of oxygen: 

The oxygen molecule can bind to the haemoglobin 

molecules easily. Haemoglobin present in the blood 

takes up the oxygen from the air in the lungs. It 

carries oxygen to tissues which are deficient in 

oxygen before releasing it.  

 (1 अंक) 

(ii) काब[न डाइऑÈसाइड का पǐरवहन: 

इसी तरह, काब[न डाइऑÈसाइड पानी मɅ अͬधक घुलनशील है। 

इसͧलए, यह Ïयादातर हमारे रÈत ÜलाÏमा मɅ घुͧलत Ǿप मɅ 

शरȣर के ऊतकɉ से फेफड़ɉ मɅ ले जाया जाता है। 

Transport of carbon dioxide: 

 

Similarly, Carbon dioxide is more soluble in water. 

Therefore, it is mostly transported from body tissues 

in the dissolved form in our blood plasma to lungs. 

 (1 अंक) 
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27. गोनेǐरया, ͧसफͧलस, मèसा (Wart) तथा एच आई वी- एɬस  

HIV-AIDS 

Gonorrhoea, syphilis, warts and HIV-AIDS. 

(Ĥ×येक का ½ अकं) 

2 

28. 

 
(उͬचत आरेख- 1 अंक, कोई चार उͬचत नामाकंन; Ĥ×येक का 

½ अंक) 

 
(proper diagram- 1 mark, any four proper labelling; 

½ mark each) 

3 
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29. धमǓनया ँ ͧशराए ं

रÈत को ǿदय से दरू ले 

जाती है 
ǿदय कȧ ओर रÈत ले जाती है 

ऑÈसीजन युÈत रÈत 

वहन करती है 

ऑÈसीजन रǑहत रÈत वहन 

करती है 

इसका èथान शरȣर के 

भीतर गहरा है 

इसका èथान ×वचा के करȣब 

है 
 

ऑÈसीजन युÈत रÈत के 

कारण उनका रंग लाल 

होता है 

ऑÈसीजन रǑहत रÈत के 

कारण उनका रÈत नीला होता 

है 

धमǓनयɉ मɅ अवकाͧशका 

संकȧण[ है 
 

ͧशराओ मɅ अवकाͧशका चौड़ा है 

रÈत Ĥवाह का दबाव 

अͬधक होता है 

रÈत Ĥवाह का दबाव कम होता 

है 

   (कोई तीन; Ĥ×येक का 1 अंक) 

Arteries Veins 

Carries blood away 

from the heart 

Carries blood 

towards the heart 

Carries oxygenated 

blood 

Carries 

deoxygenated blood 

Its location is deep 

within the body 

Its location is close 

to the skin 

Their colour is red 

due to the 

oxygenated blood 

Their blood is blue 

due to the 

deoxygenated blood 

3 
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The lumen in 

arteries is narrow 

The lumen in veins 

is wide 

The pressure of 

blood flowing is 

high 

The pressure of 

blood flowing is low 

(Any three; 1 mark each) 

अथवा  

Or  

Ĥकाश संæ लेषण के ͪ वलेय उ×पादɉ का वहन èथानांतरण कहलाता 

है और यह संवहन ऊतक के Ýलोएम नामक भाग ɮवारा होता 

है। 

This transport of soluble products of photosynthesis 

is called translocation and it occurs in the part of the 

vascular tissue known as phloem.  

(½ अकं) 

Ĥकाश सæं लेषण के उ×पादɉ के अलावा Ýलोएम अमीनो अàल 

तथा अÛय पदाथɟ का पǐरवहन भी करता है। ये पदाथ[ ͪवशेष 

Ǿप से जड़ के भंडारण अगंɉ, फलɉ, बीजɉ तथा वɮृͬध वाले अगɉ 

मɅ ले जाए जाते हɇ।  

Besides the products of photosynthesis, the phloem 

transports amino acids and other substances. These 

substances are especially delivered to the storage 

organs of roots, fruits and seeds and to growing 

organs.  
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(½ अकं) 

भोजन तथा अÛय पदाथɟ का èथानांतरण सलंÊन साथी कोͧशका 

कȧ सहायता से चालनी नͧलका मɅ उपǐरमुखी तथा अधोमखुी 

दोनɉ Ǒदशाओ मɅ होता है।  

The translocation of food and other substances takes 

place in the sieve tubes with the help of adjacent 

companion cells both in upward and downward 

directions. 

(½ अकं) 

Ýलोएम ɮवारा èथानांतरण ऊजा[ के उपयोग से पूरा होता है। 

सĐुोज सरȣख ेपदाथ[ Ýलोएम ऊतक मɅ ए.टȣ.पी. से ĤाÜ त ऊजा[ 

से हȣ èथानातǐंरत होते हɇ। 

The translocation in phloem is achieved by utilizing 

energy. Material like sucrose is transferred into 

phloem tissue using energy from ATP. 

(½ अकं) 

यह ऊतक का परासरण दाब बढ़ा देता है, िजससे जल इसमɅ 

Ĥवेश कर जाता है।  

This increases the osmotic pressure of the tissue 

causing water to move into it. 

(½ अकं) 

यह दाब पदाथɟ को Ýलोएम स ेउस ऊतक तक ले जाता है, जहा ँ

दाब कम होता है। यह Ýलोएम को पादप कȧ आवæयकता के 

अनसुार पदाथɟ का èथानांतरण कराता है। 
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This pressure moves the material in the phloem to 

tissues which have less pressure. This allows the 

phloem to move material according to the plant’s 

needs. 

(½ अकं) 

30.  

 
(उͬचत आरेख- 1 अकं, कोई चार जनन भागɉ के उͬचत 

नामाकंन; Ĥ×येक का ½ अंक)  

 

5 
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(Proper diagram- 1 mark, any four proper labelling 

of reproductive parts; ½ mark each) 

पुंकेसर एव ं èğीकेसर पुçप के जनन भाग हɇ, िजनमɅ जनन-

कोͧशकाए ँहोती हɇ। 

Stamens and pistil are the reproductive parts of a 

flower which contain the germ-cells. 

(½ अकं) 

पुंकेसर नर जननांग है, जो परागकण बनाते हɇ। 

Stamen is the male reproductive part and it 

produces pollen grains.  

(½ अकं) 

èğीकेसर पुçप के कɅ ġ मɅ अविèथत होता है तथा यह पुçप का 

मादा जननांग है। यह तीन भागɉ स ेबना होता है। 

Pistil is present in the centre of a flower and is the 

female reproductive part. It is made of three parts. 

(½ अकं) 

आधार पर उभरा-फूला भाग अडंाशय है, मÚय मɅ लंबा भाग 

वǓत[का है तथा शीष[ भाग वǓत[काĒ है, जो Ĥायः ͬचपͬचपा होता 

है। 
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The swollen bottom part is the ovary, middle 

elongated part is the style and the terminal part which 

may be sticky is the stigma. 

(½ अकं) 

अथवा 

Or 

 

(उͬचत आरेख- 1 अंक, कोई चार उͬचत नामाकंन; Ĥ×येक का 

½ अंक)  
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(Proper diagram- 1 mark, any four proper labelling; 

½ mark each) 

 

मादा जनन-कोͧशकाओं अथवा अडं-कोͧशका का Ǔनमा[ण अंडाशय 

मɅ होता है। वे कुछ हामȾन भी उ×पाǑदत करती हɇ। 

The female germ-cells or eggs are made in the 

ovaries. They are also responsible for the production 

of some hormones. 

(½ अकं) 

यौवनारंभ मɅ दो मɅ से एक अंडाशय ɮवारा Ĥ×येक माह एक अडं 

पǐरपÈव होता है। 

On reaching puberty, one egg is produced every 

month by one of the ovaries. 

(½ अकं) 

महȣन अडवंाǑहका अथवा फेलोͪपयन ɪयूब ɮवारा यह अंडकोͧशका 

गभा[शय तक ले जाए जाते हɇ। 

The egg is carried from the ovary to the womb 

through a thin oviduct or fallopian tube. 

(½ अकं) 

दोनɉ अडवंाǑहकाए ँसयुंÈ त होकर एक लचीलȣ थैलेनुमा संरचना 

का Ǔनमा[ण करती हɇ, िजसे गभा[शय कहत ेहɇ। 

The two oviducts unite into an elastic bag-like 

structure known as the uterus. 

(½ अकं) 
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